A Simple SID Antenna

[image: image1.jpg]



Parts list

QTY

1
10' PVC pipe 1" Diameter

4
Tees

1
Cross (X)

Mast:

1
Board, Painted. e.g. 4' - 8' x 2x2 -- do not use PVC pipe as it turns in

the wind.

1
1/4"-20 4" Bolt (Longer is OK)

3
1/4"-20 Nuts

2
"Fender" style washers with 1/4" hole

1
Lock washer (to fit 1/4 bolt)

1
5 gallon bucket

?
Misc Rocks, sand, cement, etc.

Wire:

1
360' PVC Insulated #20 solid wire

?
?? feet of RG-58 Coax (hard stuff to find now that Radio Shack

            discontinued)

1
TNC Connector with twist-on RG-58 Coax

1
2-position terminal block

16
14" Black (UV protected) wire ties

1
Roll of Electrical tape (good stuff, e.g. Super 33+ by 3M)


(The entire roll is -not- needed)

4
Ring connectors (Red color for small wire)

?
Misc. Heat shrink tubing sizes to make Coax cable insulated 

              nicely

